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Guess Paper – 2009

Class – XII


Subject –Mathematics

Time: 3 hrs                                                                                      Maximum Marks: 100
General Instructions:

(i) All questions are compulsory.

(ii) The question paper consists of 29 questions divided into three sections – A, B &  C Section A contains 10 questions of 1 marks each. Section B contains12 questions of 4 marks each. Section C contains 7 questions of 6 marks each.
(iii) Use of calculators is not permitted.

SECTION – A

Q.1
Let 
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Q.2
What is the principal value of 
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Q.3
Find the maximum and minimum value, if any, of the function 
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Q.4
If a square matrix A be singular find the matrix A ( adj A )

Q.5
If A is an invertible matrix of order 2 and det (A) = 5, then find  det ( A-1) 

Q.6
Write the order and degree of the differential equation 
[image: image7.wmf]0

sin

4

4

=

÷

ø

ö

ç

è

æ

+

dx

dy

dx

y

d


Q.7
Represent graphically a displacement of 40 km, 30o west o south.

Q.8
Write the value of 
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Q.9
Give example of two such matrices whose product is commutative
Q.10
Find the value of x for which  
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 is a unit vector.

SECTION –B

Q.11
Let 
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 be function defined as 
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, where, S is the range of f, is invertible. Find the inverse of f.

OR
Let A = N x N and * be the binary operation on A defined by (a,b)*(c,d) = (a + c, b + d). Show that * is commutative and associative . Find the identity element for * on A, if any

Q.12
Prove that 
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Q.13
If a, b, c are positive and unequal, show that value of determinant 
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Q.14
Is 
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OR

Verify Rolle’s theorem for the function 
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Q.15
If 
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OR


If  
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Q.16
A letter is known to have come either from LONDON or CLIFTON. On the envelope just two consecutive letters ON are visible. What is the probability that the letter has come from              (i) LONDON  (ii) CLIFTON.

Q.17
Integrate 
[image: image22.wmf](

)

(

)

ò

-

+

+

dx

x

x

x

x

log

2

1

log

1

2

4

2


Q.18
For the curve 
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Q.19
Evaluate 
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Q.20
Find the equation of line passing through the point P(4,6,2) and the point of intersection of the line 
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and the plane x + y – z = 8.

Q.21
For any vectors 
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OR


If with reference to a right handed system of mutually perpendicular unit vectors 
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Q.22
Form the differential equation representing the family of the ellipses having foci on x-axis and the centre at the origin.

SECTION –C

Q.23
If  
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, find A-1 and use it to solve the system of the equations :
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Q.24
A given quantity of metal is to be cast into a solid half circular cylinder( i.e. with rectangular base and semicircular ends). Show that in order that the surface area may be minimum, the ratio of the length of the cylinder to the diameter of its circular ends is π : π + 2.

Q.25
Find distance of the point (-2, 3, -4) from the line 
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, measured parallel to the plane  4x + 12y - 3z + 1 = 0
Q.26
Find the area of region in first quadrant enclosed by x-axis, the line x = 
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OR


Using integration find the area of the region bounded by |x| +  |y | = 1
Q.27
Solve the following differential equation: 
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Q.28
A company has two factories at P and Q and has three depots situated at A,B and C. The weekly requirement of the depots at A,B and Cis resp. 5,5 and 4 units, while the production capacity of the factories at P and Q are resp. 8 and 6 units. The cost of transportation per unit is given below P to A 16, P to B 10,P to C 15 and Q to A 10,Q to B 12,Q to C 10. How many units should be transported from each factory to each depot in order to minimize the cost.   
Q.29
In a game a man wins a rupee for a six and loses for any other number when a fair die is thrown. The man decided to throw a die thrice but to quit as and when he gets six. Find the expected value of the amount he wins/ loses.

OR


A pair of dice is thrown twice. If the random variable X is defined as the number of doublets, find the probability distribution of X. Also find the mean and variance for above distribution.
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